


b c XY=
yg- = 1.714

CY = na+bCx’  =z+ 64 = 7a+28c (1)

Cx’y = axx’  + cCx’=3  270 = 28 a + 196 c (2)

(1)  x 4 256 = 2 8 a  + 112~ (3)

(2)  - (3) 14 = 84 c

LLYlwil  c zu (1) 64 = 7 a + 28c.17)

y = 8.48 + 1.714 x + 0.17 x'
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Z‘Y  = 155, Y = 17.2,Xxy = 174,~~'~ = 109s

a = y = 17.2, b =Es  = z = 2.9
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(3)  oswio~sflofr~PaivosbaPdabQu

n=7,  Xx=0, Xx2=28,  Xx*=196

Ey=13.1,  ?=1.87,  Zxy=4.5,  Ex’y=54.7

a = 7 = 1.87, b = Zxy/Cx*  = 4.5/28  = 0.16

(n)auni5saua9~a"8lb~~~)'d.9~~

YLinear  = 1.87 + 0.16 X. X &daU  1 !? LOWE  origin g  2520

zy = n a  +  cCx’ 13.1 = 7a+28c (1)

Cx’y  = aCx’  + cEx4 54.7 = 2 8 a  +  196~ (2)

(1) x 4 52.4 = 28at112c - (3)

(21 - (3) 2.3 = 84 c

C = ,027

aLYlwi1  c 1% (1) 13.1 = 7 a + 0.76

7a = 12.344

a = 1.763

b
EXYzz - = 0.16
CX’

Ycurve = 1.763 + 0.16 X + .027 X*

x

Y
A
YL

%  YosaLua%pa”u
= Y/Y,

relative cyclical
residual

? (a&d&)

-3 -2 -1 0 1 2 3

1.5 1.6 1.6 1.8 1.9 2.2 2.5

1.39 1.55 1.71 1.87 2.03 2.19 2.35

107.9 103.3 93.6 96.3 93.6 100.4 106.4

+7.9 c3.3 -6.4 -3.7 -6.4 +0.4 +6.4

1.54 1.55 1.62 1.75 1.94 2.19 2.50
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